Risolvi le seguenti equivalenze.

0,77Mm3 = oo, dm3
0,31CmB = .o, mm3
220dm3 = ..., m3
0,066dm3 = ... cm3
17,1dm3 = oo m3
17310 MmB = .o dm3
6,3M3 = ..o, dm3
2400mMm3 = ..o cms
0,039 km3 = ....cooeeeee. hms3
27TM3 = . dms
1060 MM3 = ..o cm3
1695 mmd = ..., dm3
106Ccmd = oo, dm3
1700 CcmB = .o, dm3
236dm3 = ... cm3
0,067 M3 = ..o dm3
0,0178dm3 = ................... cm3
450 M8 = e, dams3
0,129 km3 = ...ccoeveeeee. hm3
55m3 = oo, dms
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396600 dM3 = ... dams3
423, 7MMm3 = ..o, dms
172hm3 = e, km3
0,0159 hm3 = ....ovveeen. dams3
0,33M3 = .o dm3
0,0172cm3 = .., mms3
05cm = ., mms3
4785 m3 = ..o, hms3
25590 dam3 = .....cooeveeeeenn. km3
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Soluzioni

0,77 m3 = 770 dm?3

0,31 cm® = 310 mm3

220 dm3 = 0,22 m3

0,066 dm® = 66 cm?3
17,1dm3 = 0,0171 m3
17310 mmé = 0,01731 dm?3
6,3 m3 = 6300 dm?3

2400 mm3 = 2,4 cm3
0,039 km? = 39 hm3

2,7m3 = 2700 dm?3

1060 mm?3 = 1,06 cm?3

1695 mm?é = 0,001695 dm3

10,6 cm3 = 0,0106 dm?3

1700cm® = 1,7dm3

2,36 dmd = 2360 cm?3

0,067 m® = 67 dm?3

0,0178 dm® = 17,8 cm?

450 m® = 0,45 dam?

0,129 km?® = 129 hm?

55 mé = 5500 dm?3

3200 m? = 3,2 dam?
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396600 dm?® = 0,3966 dam?

423,7 mm3 = 0,0004237 dm3

171 hm3 = 0,171 km?3
0,0159 hm? = 15,9 dam?3
0,33 m3 = 330 dm?3
0,0172cm3® = 17,2 mm3
0,5 cm® = 500 mm?3
4785 m3 = 0,004785 hm3

25590 dam? = 0,02559 km?3
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